30.

32.

34.

36.

sint — 2sinz=0 < sinz(l—2sinz)=0 <& sin:c:Oorsinx=% & =0,

orz = g, 5g’ Therefore, the solutions in [0, 27) are z = 0, F, Sg' , .
sint —cosz —tanz = —1 & sinzcosz — cos’z —sinz = —cosz &

sinzcosz —sinz — cos’z +cosz =0 << sinz(cosz—1)—cosz(cosz—1)=0 &
(sinz —cosz)(cosz—1) =0 <« sinz=coszorcosz=1 <« tanz=1lorcosz=1
TS

& =z =7, %orz=0. Therefore, the solutions in [0, 27)are z = 0, §, .

4sin’z +2cos’z =3 & 25mx+2(sm:c+cos:c)——3=0 & 2sin’z+2-3=0
& 2sinfz=1 & sinm‘:iﬁ. So the solution in[0?27r)arc:c=§,§f,§f,%”.
sinz =cos2z <« sinz=1-2sin?z <« 2sinz+sinz—1=0 <&
(2sinz — )(sinz+1) =0 <& sinz=jorsinz=-1 & z=
the solutlons in [0, 27) are z = L 25
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